Sr Questions

1 = Jeie oually (5 Sl

2 LU (e isnt o 5S (8 k(e Jlos (oS (e (JSly

3 W sy asme S S s S (580 50 (8 S (B o))

4 = S S S allan S Kin (e Sllaa sdly) as 03y palali L 58

5 € 2 UeS ) Jaghne (uly ) (e o) (S )5 s dad IS IS (S (S plad Sl Gl Sy S
6 = o WS S il e 5y S ) shay (S B 5l sied S 3L

7 = by da S Gl S (ausly

8 ST S S e Sy

9 (o5 S 2 (S S Sl e RSl gy w e e disni e f

10 O S S S Sl S sl

11 s allilS ) )k S S ShlugsS e dbz 0

12 = 0 alad e il B ) g2 S (638 e s (e AV G S L oS e dd g0
13 10 S w2

14 L3 L8 LS o8 Sy Sl

15 = U duals SIS S8 o)l &g S S _wgm dd g0

Answers Choice

A UK S (S
BT E PEFLBYES
J%s gla S Osfin Gl
S S

1970
1972
1977
1974

Dow> Dow

Al S G pd gl S (Sl

B. S sislad )5l 5 S e

C. sl ¢ oy lS (e B 552
SEee0)

D. o &S e O

A, S J
B. <K iidiy g
C. K& Jijes
D. Su 3,5

A. 20%
B. 10%
C.15%
D. 5%

A U s aline sk ool il e
B_Lﬁéﬁd&mbebga_g

C. Uy Alaiaog

D. saiae sl op e i mae dishios
U ad ue 3

. )5\"\)3\3 al j)};
SR Gl L,
Sabed Iy
BTSN

9%

19%
20%
21%

13
23
26
36

i S Ky ) Alinsa
~Saa {,3\;5 BY AN

S S 7 ) sl Sy
i ) Ky ) G Al

Sy ke
<& it
S5 S se

Sy &l iy K
sl Gl iy £

1948
1950
1951
1955

LS Sl
RECHERY
S 538

OmP» DOWF DOUP DOWE UOEP U0W> UOW» 0D0Wr DO



16

17

18

19

20

up e Sl B S e ada s )l 0

=2 O LS Olanad 1S 48 551 e it 530 S L

U e a5 iame S S G S Jads

= U LS Sy &5 S

=B LS Jlenid oS i dle

o

Sy iglad

NSSP R
PSS
A ) (o (P5S

oS o)
o8 2

DOm> DOW

RS (o

7 1949 x5
6 1949 Lws
. 51949 s

EAPPS

Sy e

DOm» UOow

oS e

B. US duals mia f e ysha
C. zu & S b

D. L&\du‘pglﬁxfu



